“Non- tomo. OBE

" L= 0al+ da D™t ae
N= A/dx

" Consider: Lu.j =4 0

Solution. (Super. posikion prindipal ) YYe typ ) where 19 in the qenceal SoluXion of Ly=e (2, qe= parkealar Soukion
Next lectuces @ learn how 4o Find '-39\,

Sectinn YU~ Methods of underermined coeSFicients

" broneval idea — %uoss Yhe Solutien ‘3\) From the Form ofF 3(.%5 and “‘Sc,
'Aw\iu\o\a T SOQ S a Sum of Yerms F  the Fb\\nw'\n% Fovms".

TP peiyneminal jie’y lon X Flan X, HlogX ks

- PLRX

X

S PLE Los CBxD, P ¢ sin LBx)

tqp=x"Clicar Sum of funchions thar are gonecabed by vepeared oF. oF quo)
M: depends on how 304) s related Y qe.
“Lonsidec ay” ¥oy'+ Cy = qen
Momo. eg: alj" '\'\o!.j’-\-u.5=m
thar. ¢! ar®rorre=Q

) Mats'-c Box:

Lase | = quo=Pud €™ et goyromial of order
o= x™ (e Ak er Ak kA )
Sum of devivarives of g0
M=0 F o s Mok acook oF ¥
M= | % e is a Sie roor of ¥ ("X s a pucr of ‘&:_)
m=2 F G is o double roo¥ ofF X

“x
lase 2L: %LX) = PO e cos (B PLKD> = polynomio\  deqree

Po ™™ sin (B
Y = ™ LOhex™ e v Ant A0 )™ cosBx) + (Bre x5 4t Bexx8ode™ 5in (_\s,()__(
M=6 ,\F A+riP is not a reet of *
M=t LB s e teex ofF ¥
Ex: %”—L‘SI+ y = 2ze*
%Lx>=z¢" =2 PULO=2 of degee @, =1
\** skep: Solve \omo. g
Char €¢. ' r*=2r+1=0 hos a dodele Yoor =\
=7 Y= x " lhe*> | m=a
“'&p = x*A* (Nox Faal answer)
Determine A
Yp = 2Axe & AxZe”
Yo = 2AX > zaxe™x AxeX
= Ax*e* + A Axe* +2A”
Ye-2y'e ry= 22*
Ax'e* v Axe® ¥2he*— Larxe ¥ 2axe* T + x*Ac™ = 26X
ket = 20X s A=)
Ex: (5”-14.5’-}2(3 =2e%cos x
Plo= 2 deqree @ ,ol=\  B=)
Char. ¢4. rZ-2¢ +2=0

has comprex vooks =\t <. Obscene £ +1® = [+1 1S a reor oF dhe char eg.
Yp = XM A cosx FBeXsiaxd  , m=1 So, Yp= X (heMwonx B e sax)

Next s¥ep t dekermine A and B



“Ex: %n_,q,_sq,gj =x2+x-1 ¥Siax

QU = XPER =L FH GO = 4000+ e 00
pexd Siax

Use ﬂ.(x) 4o ju.css Ljp\ and jaut use 3LLX) Yo quess Yez

Ye= Yoo + Qo=

) ‘3|L>(>

=xZ4x -\

) PLO=xZ ¥+ x—1

Char.

e

c*-Yderz=0

, \has 2 rooxs

~=1,3

dcﬁv—ul , =0

Yor = LCAX*¥Bx¥YC) M=o 1 Yor = AxT ¥ BRYC

e =Siax , pLd =1, oL=e  e=\
Ari @

s ot a vesk

=> Yo~ X™ () Sinx ¥ E cosx) , m=0

Yp~ =

l&y=Ax‘+r{,x+o-\—§ SiaX + E cosx

D sinx + E Cosx

‘Secxion 4. U~ Variatien oF paramelers

“hasther  way Yo Find '-&?

"j‘a is determined by 40 and Yo in & Conercre way
T tonsider 2nd order \ineat equakion:? 0\1.(_)()3” 4—a‘¢x>1'-\—a.u>j=3u> <=> LS”{- ny)le-i- guo‘je:-'oo
the assodiered homo. cg. 'i” ¥p‘1'+{l3=0 1Ye =ay +ea Y

Assume Fhat 4 gad Ye are known then Ljp'-' MY vgz U and Voare computed as'

W= det (Y1 Y=

g 4

FO W Ninearty Tadepend.

w,=der [ @ Y, ) Wz = det 4 o
Fo 4 y  F
Wy We
u= [ /w v=)w

1

tow 4o remembes repacing a Column in W \o3 Aae Monomo. \wri-\

"Ex- LS"+LJ=S=C Y= \
Cos X

of undetermined Coefficients doesit+ worlke

Mevhod

e

thar ecp: 2 4l=0,r
(..1. = Cos X, Ye =5\ax

w= [ cosx Siax \=
SSnK oSk

c0s8® x = (5nx?) =1

w=, 0 SinX \ = - Sinx Secx = Z _Siax
Cosx
seex  Cosx
We = [ Cosx @ | = CoSx . seex =\
SHAX  Seex
M=J_%_ = (zsiak 4, =J_AA = nesd (s= cosx, ds =-Siaxax) = lalcosx)
w cosx 3
S0 Yp=UY +uye= Clnl cosxy) Cosx + X sinx

V’j\% ’j_'|_ = Jidx =) ,



